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U, =U;;; 20 CNVUX,, =(uM), =u;y; - M, (3.14)
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CAL2AX-h e Vi g (3.109)
XY '
by3—by4 = DIFVY (3.110)
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(3.62) (3.111)

2Ax- 2AY(NJ* = N, )+ CNVVX +CNVVY + HIDY = CIMY + DIFV
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h=h, =—=
oX  OX
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3.3.3
Table.3-1
Table.3-1
he Vi At A X Ay
a
(cm) (cm?/s) (9 (cm) (cm)
4 0.01 5.0x 10° 0.2 0.2 0.3
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Table5-1

Run L w Uy Mo
L/D Fr Re
(cm) (cm) (cm) (enls)
10 0.56
8.4 0.47
104 25 100 04 10905
14 0.78
18 1.0
Table.5-2 2
L W Uo Mo
Fr Re
(cm) (cm) (cm) (cm?ls)
0.1 6.3 252 2748
0.2 12.6 504 5496
0.3 19 76 8288
0.4 10 104 25 100 10905
05 31 124 13522
0.6 37 148 16140
0.7 41 164 17784
Table.5-3 3
Run L w Uo Mo
WIL Fr Re
(cm) (cm) (cm) (cm?¥s)
-1 10.4 1.04
-2 10 7.2 0.72 25 100 04 10905
-3 15.2 152
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5.2

521

Fig.5-3  Run Run Fig.5-4 Fr=0.1,04,05,0.7 Fig55 Run -1 3

Q(X=1lcm  Y=5cm) h Fig.5-6 5-8
h7he
Table.5-4
7(s)
Run Run 50 Run 25
0.56
Table.5-4
L/D h'/h, T(s)
Run 0.56 0.0944 12
Run 0.47 0.106 1.25
Run 0.78 0.0481 11
Run 1.0 0.023 0.9
Table.5-5 Fr=0.5
Fr=0.5
(2001)
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Table.5-5

Fr h’/he T(s)

01 0.0112 0.6

0.2 0.038 0.8

03 0.0519 11

04 0.0944 12

05 0.097 12

0.6 0.0878 1

0.7 0.0416 0.9

Table.5-6
Run - 2 Run -1
Run - 3 Run -1 50 1.04
Table.5-6
Wi/L h’/h, T(s)

Run -1 1.04 0.0944 1.2
Run -2 0.72 0.1 11
Run -3 152 0.0466 14
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Table.5-8

Table.5-9

Run

3

L/D k’y

Run 0.56 0.0112
Run 0.47 0.0124
Run 0.78 0.0056
Run 1.0 0.004
Table.5-8
Fr=0.5
Fr k’,
0.1 0.85
(2000) 0.2 0.88
0.3 0.95
0.4 112
0.5 12
0.6 0.62
0.7 0.42
Run - 2 Run 1
Run -1 60 1.04
Table.5-9
W/L k’s
Run -1 1.04 0.0108
Run -2 0.72 0.0116
Run -3 1.52 0.0064
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5.3.2

kK] 5.1) (5.3)

Fig.5-21,22,23 Fig.5-24,25,26 Fig.5-27,28,29

P u/Uo v/Uo
E’ k! ki
Table.5-10
Run Run 50 Run 10 35
0.56
Table.5-10

L/D u'/Uo v'/Uq E' k'y T(s)
Run 0.56 0.14 0.16 0.022 0.0112 1.2
Run 0.47 0.155 0.165 0.026 0.0124 1.25
Run 0.78 0.11 0.1 0.011 0.0056 1.1
Run 1 0.05 0.04 0.0021 0.004 0.9
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Table.5-11

Run

Fr=0.5
Fr=0.1 0.2
( )
Table.5-11
Fr u'/Uy v'/Uq E' k' T(s)
0.1 0.06 0.059 0.0035 0.85 0.6
0.2 0.04 0.031 0.0012 0.88 0.8
03 0.11 0.12 0.013 0.95 11
04 0.1384 0.16 0.022 1.12 12
0.5 0.1385 0.17 0.024 1.2 12
0.6 0.09 0.063 0.006 0.62 1
0.7 0.04 0.024 0.0011 0.42 0.9
Table.5-12
Run - 2 Run -1
-3 Run - 1 50 1.04
Table5-12
W/L u'/Uqg v'iUg E' T(s)
Run -1 1.04 0.14 0.16 0.022 0.011 1.2
Run -2 0.72 0.155 0.172 0.027 0.012 11
Run -3 1.52 0.12 0.1 0.012 0.0064 14
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program main
integer,parameter :: nx=124,ny=79 !
integer,parameter :: mx1=17,mx4=107,my1=25my2=27 !
integer,parameter :: mx2=37,mx3=87 !
integer :: i,j,k,m,nt tt,tend
integer :: iend,jend !
red(8) :: Ix,ly
real (8) :: dx,dy,dt ! ,
rea (8) :: vis,g,ustart, Mstart,he !

real(8) :: CNVUXe,CNVUXw,CNVUX,CNVUYn,CNVUY s, CNVUY

rea(8) :: HIDX,CIMX,DIFU,DIFUX,DIFUY

real(8) :: CNVVXe,CNVVXw,CNVVX,CNVVYn,CNVVYsCNVVY

rea(8) :: HIDY,CIMY,DIFV,DIFVX ,DIFVY

real (8) :: cx1,cx2,cx3,cx4,cx31,ex32,cx33,0x34,6x35,cx36,cx37,cx38,cx41 &
,CX42,cx43,cx44,cx45,cx46,cx47

rea (8) :: cy2,cy3,cy4,cy3l,cy32,cy33,cy34,cy35,cy36,cy37,cydl,cyd2 &
,Cy43,cy44,cyd5,cy46,cy47,cy48

rea (8) :: hx1,hx2,hyl,hy2

rea(8) :: f,Re

rea(8) :: MM1,uul,wil

real (8) :: bx1,bx2,bx3,bx4,byl,by2,by3,by4

rea (8),dimension(nx,ny+1) :: M_old,M_new,u,u_pro,uu,u_ave,u_bar

red (8),dimension(nx,ny+2) :: N_old,N_new,v,v_pro,vv,v_avev_bar

rea (8),dimension(nx,ny+1) :: h_old,h_new,h pro,hh,h_ave

integer,dimension(nx,ny) :: Xx,yy IX AY;
|
!

IXx =246 ! (cm)

ly =158 ! (cm), (cm)

m =123 IX

n =79 ly

iend =m+1 !

jend=n !

dx =Ix/real(m) IX (0.2cm)

dy =ly/red(n) ly (0.2cm)
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dt =5.0D-5 !

tend = 240000 !

!
vis =001 ! (cm?/s)
g = 980.665 ! (cm/s?)
ustart = 25.0 IX (cm/s)
Mstart = 100.0 ! (cm?/s)
he=4.0 ! (cm)

open (1,file='L=10_1.txt',status='old")
open (2,file='L=10 2.txt',status="old")
open (3,file='L=10_3.txt',status="old")
open (4,file='h_main.txt', status='old’)
open (5,file='h_gyo.txt',status="old")
open (7 file="turb_1.txt' status='old")
open (8 file="turb_2.txt',status="old")
open (9file="turb_3.txt',status="old")
open (10,file='u_cross.txt',status="old")
open (11,file='v_cross.txt',.status="old")
open (12/file='v_level .txt',status="old")
open (13 file='u(61,22).txt', status="ol d")
open (14,file="n(22,56).txt', status="ol d")
open (15,file="n(102,56).txt" status="ol d’)
open (16,file="v(mx2+5,27).txt', status="ol d)
open (17,file='v(60,27).txt', status="ol d")
open (18/file='v(mx3-5,27).txt',status="ol d")
open (19,file='u(61,26).txt', status="ol d")
open (20,file='u(61,30).txt',status="ol d")
open (21file='v_enter.txt',status="old")
open (22file="ave.txt', gatus="old)

open (23 file='u_bar.txt' status="old")
open (24.file='v_bar.txt' status="old")

!
call init
dot=1tend

!
call bound

cal cal_main
|

call cal_enter
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!
cal cal_gyo

call adv

!
call prout

call average

!
cal turb

!
call output

write(6,*) t,'step’
end do

stop

contains
TRREERREERERr e e e eer e

subroutine init
implicit none
|
!
doi=l,iend-1,2
doj=2,my1-1,2
M_oald(i,j) = Mdart
u(i,j) = ustart
end do
end do

doi=2,iend,2
doj=1,my1,2
N_old(i,j) = 0.0
v(i,j) =0.0
end do
end do
doi=2,iend,2
doj=2,my1-1,2
h old(i,j) =he
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end do
end do

do i=mx1,mx4,2
doj=myl+1,jend-1,2
M_old(i,j) =0.0
u(i,j)=0.0
end do
end do

doi=mx1+1,mx4-1,2
do j=my1+2,jend,2
N_old(i,j) = 0.0
v(i,j) =0.0
end do
end do

doi=mx1+1,mx4-1,2
doj=myl+1,jend-1,2
h_old(i,j) = he
end do
end do

return
end subroutineinit

subroutine bound
implicit none

doj=2,my1-1,2
M_old(1,j) = Mstart
u(l1,) = ugart

end do

doj=2,my1-1,2
M_old(iend-1,j) = M_old(iend-3,j)
u(iend-1,j) = u(iend-3,j)

end do

doi=1l,iend-1,2

M_old(i,2) = M_old(i,4)
u(i,2) = u(i,4)
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end do

j=26
M_old(mx2,j) = 0.0
u(mx2,j) =0.0
M_old(mx3,j) = 0.0
u(mx3,j) =0.0

do j=my2+1,jend-1,2
M_old(mxd1,j) = 0.0
u(mx1,j) =0.0
M_old(mx4,j) = 0.0
u(mx4,j) =0.0

end do

Py NN

doj=1,myl1-2,2
N_old(2,j) = 0.0
v(2,j) =0.0

end do

doj=1,myl1-2,2
N_old(iend,j) = N_old(iend-2,))
v(iend,)) = v(iend-2,j)

end do

doi=2,iend,2
N_old(1,j)) = N_old(i,3)
V(L) = v(i,3)

end do

doi=2,mx2-1,2
N_old(i,my1) = 0.0
v(i,myl) = 0.0

end do

doi=mx3+1,iend,2
N_old(i,my1) = 0.0
v(i,myl) = 0.0

end do
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doi=mx1+1,mx4-1,2
N_old(i,jend) = 0.0
v(i,jend) = 0.0

end do

doi=mx1+1,mx2-1,2
N_old(i,my2) = 0.0
v(i,my2) = 0.0

end do

do i=mx3+1,mx4-1,2
N_old(i,my2) = 0.0

v(i,my2) = 0.0
end do
fnnn g RN RNt

doj=2,my1-1,2
h_old(iend,j) = he
end do

return
end subroutine bound

subroutine cal_main
implicit none

! ( )
doi=1,mx2,2
M_old(i,myl+1) = -M_old(i,my1-1)
u(i,myl1+1) = -u(i,my1-1)
end do

doi=2,mx2-1,2
N_old(i,my1+2) =-N_old(i,my1-2)
v(i,my1+2) = -v(i,myl-2)

end do

doi=2,mx2-1,2
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h_old(i,my1+1) = h_old(i,my1-1)
end do

! ( )
do i=mx3,iend-1,2
M_old(i,myl+1) = -M_old(i,my1-1)
u(i,my1+1) = -u(i,my1-1)
end do

do i=mx3+1,iend,2
N_old(i,my1+2) =-N_old(i,my1-2)
v(i,my1+2) = -v(i,myl-2)

end do

doi=mx3+1,iend,2
h_old(i,my1+1) = h_old(i,my1-1)
end do

TN NIRRT RNAY
doi=3iend-3,2
doj=4,my1-1,2

if(t==1) then

Re = Mdart/vis
ese

Re =abs(M_old(i,j))/vis
endif

f = 0.0791* (Re**(-0.25))

W1 = 0.25D0* (V(i+1,j+1)+v(i+L,j-1)+v(i-1,j+1)+v(i-1-1))

hx1= 0.25D0*(h_old(i+Lj+2)+h_old(i+1j)+h_old(-1,j+2)+h_old(i-L;))
hx2= 0.25D0*(h_old(i+L,)+h_old(i+1,-2)+h_old(i-1,j)+h_old(i-1j-2))

! ( )

I'X

u(i+1,j) = 0.5* (u(i+2,j)+ui.j))
u(i-1,j) = 0.5*(u(i,j)+u(i-2,j))

if(u(i+1,j) >= 0) then
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CNVUXe = u(i+1,j)*M_old(i,j)
ese
CNVUXe = u(i+1,j)*M_old(i+2,))
end if
if(u(i-1,j) >= 0) then
CNVUXw = u(i-1,j)*M_old(i-2,j)
ese
CNVUXwW = u(i-1,j)*M_old(i,j)
end if
CNVUX = (CNVUXe - CNVUXw)/(2.0*dx)

:/(): J+1) = 0.5% (V(i+1,j+1)+v(i-1,j+1))
V(i,j-1) = 0.5* (v(i+1,j-1)+v(i-1,j-1))
if(v(i,j+1) >= 0) then
CNVUYn = v(i,j+1)*M_old(i,j)
dse
CNVUYn = v(i,j+1)*M_old(i j+2)
end if
if(v(i j-1) >= 0) then

CNVUYs=v(i,j-1)*M_old(i,j-2)
dse

CNVUYs = v(i j-1)*M_old(.j)
end if

CNVUY = (CNVUYn - CNVUYs)/(2.0*dy)
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HIDX = 0.5*g*(h_old(i+1,j)**2-h_old(i-1,j)**2)/(2.0* dx)
cx1 =g*0.5¢(h_old(i+1,j)+h_old(i-1,j))*0.002
cx2 = -0.54f u(i,j)* sort(u(i,j)** 2+vwl** 2)

cx31 = 0.3*sgrt(0.5* f)/dx

cx32 = 0.25* (u(i+2,))+u(i,j))**2+0.25* (v(i+1,j+1)+v(i+1,j-1))** 2
cx33 = h_old(i+1,))** 2* sgrt(cx32)* (u(i+2,j)-u(i,j))/(2.0*dx)

cx34 = 0.25% (u(i,j)+u(i-2,j))** 2+0.25* (v(i-1,j+1)+v(i-1,j-1))**2
cx35 = h_old(i-1,j)** 2* sgrt(cx34)* (u(i,j)-u(i-2,j))/(2.0* dx)

€x36 = cx31* (cx33-cx35)

cx37 = (1.0/3.0)*2.07* (0.5*f)/dx

cx38 = cx37*(h_old(i+1,j)* cx32-h_old(i-1,j)* cx34)

cx3 = cx36-cx38

cx41 = 0.3*sgrt(0.5%)/(2.0* dy)
cx42 = 0.25* (u(i,j+2)+u(i,j))** 2+0.25* (v(i+1,j+1)+v(i-1,j+1))**2
cx43 = (u(i,j+2)-u(i,j))/(2.0*dy)+(v(i+1,j+1)-v(i-1,j+1))/(2.0* dx)
cx44 = 0.25* (u(i,j)+u(i,j-2))** 2+0.25* (v(i+1,j-1)+v(i-1,j-1))**2
cx45 = (u(i,j)-u(i,j-2))/(2.0* dy)+(v(i+1,j-1)-v(i-1,j-1))/(2.0* dx)
Cx46 = u(i,j)**2+0.25* (v(i+1,j+1)+v(i-1,j+1))**2
if(3<=i .and. i<=mx2 .and. j==my1-1 .or. mx3<=i .and. i<=iend-3 .and.j==my1-1) then
cx4 = cx41* (hx1** 2* sgrt(cx46)* cx43-hx2* * 2* sgrt(cx44)* cx45)
ese
cx4 = cx41* (hx1** 2* sgrt(cx42)* cx43-hx2* * 2* sgrt(cx44)* cx45)
end if

CIMX = cx1+cx2+cx3+cx4

bx1 = h_old(i+L,j)* (u(i+2,j)-u(i,j))/(2.0* dx)
bx2 = h_old(i-1,j)* (u(i.j)-u(i-2,))/(2.0*dx)
DIFUX = (bx1-bx2)/(2.0*dx)

byl = hx1* (u(i,j+2)-u(i,j))/(2.0* dx)
by2 = hx2* (u(i,j)-u(i,j-2))/(2.0* dx)
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DIFUY = (by1-by2)/(2.0%dy)
DIFU = vis*(DIFUX + DIFUY)

!
M_new(i,j) = M_old(i j)+dt* (-CNVUX-CNVUY-HIDX+CIMX+DIFU)

end do
end do

doi=4,iend-2,2
doj=3,myl-2,2

if(t==1) then
Re = Mdart/vis

ese
MM1=0.25D0*(M_old(i+1,j+1)+M_old(i+1,j-1)+M_old(i-1,j+1)+M_old(i-1,j-1))
Re = abs(MM1)/vis

end if

f = 0.0791* (Re** (-0.25))
uul = 0.25D0* (u(i+1,j+1)+u(i+1,j-1)+u(i-1,j+1)+u(i-1,j-1))
hyl = 0.25D0* (h_old(i+2,j+1)+h_old(i+2,j-1)+h_old(i,j+1)+h_old(i,j-1))
hy2 = 0.25D0* (h_old(i,j+1)+h_old(i,j-1)+h_old(i-2,j+1)+h_old(i-2,j-1))
! ( )
I'x
u(i+1,j) = 0.5*(u(i+1,j+1)+u(i+1,j-1))
u(i-1,j)) = 0.5* (u(i-1,j+1)+u(i-1,j-1))
if(u@i+1,j) >=0) then

CNVVXe=u(i+1,j)*N_old(i,)
dse

CNVVXe = u(i+1,j)*N_old(i+2,)
end if
if(u(i-1,j) >= 0) then

CNVVXw = u(i-1,j)*N_old(i-2,])

76



ese
CNVVXw = u(i-1,j)*N_old(,j)
end if
CNVVX = (CNVVXe - CNVVXWw)/(2.0*dx)

| yv(i,j+1) = 0.5*(v(i j+2)+V(i j))

V(i,j-1) = 0.5¢(v(i j)+V(i j-2))
if(v(i,j+1) >= 0) then

CNVVYn = v(i j+1)*N_old( j)
dse

CNVVYn = v(i,j+1)*N_old(i,j+2)
end if
if(v(i j-1) >= 0) then

CNVVYs = v(i j-1)*N_old(i j-2)
dse

CNVVY's = (i j-1)*N_old(i )
end if

CNVVY = (CNVVYn - CNVVY /(2.0 dy)
HIDY = 0.5*g* (h_old(i,j+1)**2-h_old(i,j-1)**2)/(2.0*dy)

cy2 = -0.54f*v(i j)* sgrt(uul** 2+v(i,j)** 2)

cy31 = 0.3*sgrt(0.5*)/(2.0* dx)
cy32 = 0.25* (u(i+1,j+1)+u(i+1,j-1))** 2+0.25* (v(i+2,))+Vv(i,j))**2
cy33 = (u(i+1,j+1)-u(i+1,j-1))/(2.0* dy)+(v(i+2,j)-v(i,}))/(2.0* dx)
cy34 = 0.25* ((u(i-1,j+1)+u(i-1,j-1))** 2+0.25* (v(i,j)+Vv(i-2,)))** 2)
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cy35 = (u(i-1,j+1)-u(i-1,j-1))/(2.0* dy)+(v(i,j)-v(i-2,j))/ (2.0* dx)
cy3 = cy31* (hyl** 2* sgrt(cy32)* cy33-hy2* * 2* sgrt(cy34)* cy35)

cy41 = 0.3*sgrt(0.5%f)/dy

cy42 = 0.25* (u(i+1,j+1)+u(i-1,j+1))** 2+0.25* (v(i,j+2)+Vv(i,j))** 2
cy43 = h_old(i,j+1)** 2* sgrt(cy42)* (v(i,j+2)-v(i,}))/(2.0* dy)

cy44 = 0.25* (u(i+1,j-1)+u(i-1,j-1))** 2+0.25* (v(i,j) +V(i,j-2))** 2
cy45 = h_old(ij-1)** 2* sgrt(cy44)* (v(i,j)-v(i,j-2))/(2.0* dy)

cy46 = cy41* (cy43-cy4s)

cy47 = (2.0/3.0)*2.07* (0.5*f)/(2.0* dy)

cy48 = cy47*(h_old(i,j+1)* cyd2-h_old(i,j-1)* cy44)

cy4 = cy46-cy48

CIMY = cy2+cy3+cy4d

bx3 = hy1* (v(i+2,))-v(i,j))/(2.0* dx)
bx4 = hy2* (v(i,j)-v(i-2,j))/(2.0* dx)
DIFVX = (bx3-bx4)/(2.0*dx)

by3 = h_old(i,j+1)* (v(i,j+2)-v(i.j))/(2.0* dy)
by4 = h_old(i,j-1)* (v(i.j)-v(i j-2))/(2.0* dy)
DIFVY = (by3-by4)/(2.0%dy)

DIFV = vis*(DIFVX + DIFVY)

N_new(i,j) = N_old(i,j)+dt* (-CNVVX-CNVVY-HIDY+CIMY +DIFV)

end do
end do

doi=4,iend-2,2
doj=4,my1-1,2
h_new(i,j) = h_old(i,j)-0.5*dt* (M_old(i+1,j))-M_old(i-1,j))/dx &
+(N_old(i,j+1)-N_old(i,j-1))/dy)
end do
end do

return
end subroutine ca_main
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subroutine cal_enter
implicit none
! « )
j=26
M_old(mx2-2,j) = -M_old(mx2+2,))
u(mx2-2,j) = -u(mx2+2,j)

M_old(mx3+2,j) =-M_old(mx3-2,))
u(mx3+2,j) = -u(mx3-2,j)

doj=myl,my2,2
N_old(mx2-1,j) =-N_old(mx2+1,))
v(mx2-1,j) = -v(mx2+1,j)

N_old(mx3+1,j) =-N_old(mx3-1,j)
v(mx3+1,j) = -v(mx3-1,))
end do

j=26
h_old(mx2-1,j) = h_old(mx2+1,))
h_old(mx3+1,j) = h_old(mx3-1,))

do i=mx2+2,mx3-2,2
j=26
!

if(t==1) then

Re = Mdtart/vis
ese

Re = abs(M_old(i,j))/vis
endif

f = 0.0791* (Re**(-0.25))

W1 = 0.25D0% (V(i+1,j+1)+v(i+L,j-1)+v(i-1,j+1)+v(i-1-1))
hx1 = 0.25D0* (h_old(i+L,j+2)+h_old(i+1,j)+h_old(i-1,j+2)+h_old(i-L;))
hx2 = 0.25D0* (h_old(i+1,j)+h_old(i+1,j-2)+h_old(i-1,j)+h_old(i-1,j-2))

! ( )
I'x
u(i+1,j) = 0.55(u(i+2,j)+u(i,j))
u(i-1,j) = 0.5* (u(i,j)+u(i-2,)))

if(u(i+1,j) >= 0) then
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CNVUXe = u(i+1,j)*M_old(i,j)
ese
CNVUXe = u(i+1,j)*M_old(i+2,))
end if
if(u(i-1,j) >= 0) then
CNVUXw = u(i-1,j)*M_old(i-2,j)
ese
CNVUXW = u(i-1,j)*M_old(i,j)
end if
CNVUX = (CNVUXe - CNVUXw)/(2.0*dx)

|
'y
V(i j+1) = 0.55(v(i+1,j+1)+v(i-1,j+1))
V(i,J-1) = 0.5%(v(i+1,j-1)+v(i-1,j-1))
if(v(i,j+1) >=0) then
CNVUYnNn=v(i,j+1)*M_old(i,j)
dse
CNVUYnNn=v(i,j+1)*M_old(i,j+2)
endif
if(v(i,j-1) >= 0) then
CNVUYs=v(i,j-1)*M_ald(i,j-2)
dse
CNVUYs=v(i,j-1)*M_ald(i,))

end if

CNVUY = (CNVUYn - CNVUYs)/(2.0*dy)

HIDX = 0.5*g*(h_old(i+L;j)**2-h_old(i-1,j)** 2)/(2.0*dx)
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cx1 =g*0.5¢(h_old(i+1,j)+h_old(i-1,j))*0.002
cx2 =-0.54fu(i,j)* sort(u(i,j)** 2+vwwl** 2)

cx31 = 0.3*sgrt(0.5* f)/dx

ex32 = 0.25* (u(i+2,))+u(i,j))**2+0.25* (v(i+1,j+1)+v(i+1,j-1))** 2
cx33 = h_old(i+1,))** 2* sgrt(cx32)* (u(i+2,j)-u(i,j))/(2.0* dx)

cx34 = 0.25% (u(i,j)+u(i-2,j))** 2+0.25* (v(i-1,j+1)+v(i-1,j-1))**2
cx35 = h_old(i-1,j)** 2* sgrt(cx34)* (u(i,j)-u(i-2,j))/(2.0* dx)

€x36 = cx31* (cx33-cx35)

cx37 = (1.0/3.0)*2.07* (0.5*f)/dx

cx38 = cx37*(h_old(i+1,j)* cx32-h_old(i-1,j)* cx34)

cx3 = cx36-cx38

cx41 = 0.3*sgrt(0.5%)/(2.0* dy)

cx42 = 0.25* (u(i,j+2)+u(i,j))**2+0.25* (v(i+1,j+1)+v(i-1,j+1))**2
cx43 = (u(i,j+2)-u(i,j))/(2.0* dy)+(v(i+1,j+1)-v(i-1,j+1))/(2.0* dx)
cx44 = 0.25% (u(i,j)+u(i,j-2))** 2+0.25* (v(i+1,j-1)+v(i-1,j-1))**2
cx45 = (u(i,j)-u(i,j-2))/(2.0* dy)+(v(i+1,j-1)-v(i-1,j-1))/(2.0* dx)
cx4 = cx41* (hx1** 2* sgrt(cx42)* cx43-hx2* * 2* sgrt(cx44)* cx45)

CIMX = cx1+cx2+cx3+cx4

bx1 = h_old(i+1,))* (u@i+2,j)-u(i,j))/(2.0*dx)
bx2 = h_old(i-1,j)* (u(i,j)-u(i-2,)))/(2.0*dx)
DIFUX = (bx1-bx2)/(2.0*dx)
byl = hx1* (u(i,j+2)-u(i,j))/(2.0* dx)
by2 = hx2* (u(i,j)-u(i,j-2))/(2.0* dx)
DIFUY = (byl-by2)/(2.0*dy)

DIFU = vis*(DIFUX + DIFUY)

!
M_new(i,j) = M_old(i j)+dt* (-CNVUX-CNVUY-HIDX+CIMX+DIFU)

end do

do i=mx2+1,mx3-1,2
doj=myl,my2,2
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if(t==1) then
Re = Mstart/vis
dse
MM1 =0.25D0* (M_old(i+1,j+1)+M_old(i+1,j-1)+M_old(i-1,j+1)+M_oald(i-1,j-1))
Re = abs(MM1)/vis
endif
f =0.0791* (Re**(-0.25))
uul = 0.25D0* (u(i+1,j+1)+u(i+1,j-1)+u(i-1,j+1)+u(i-1,j-1))

hyl = 0.25D0* (h_old(i+2,j+1)+h_old(i+2,j-1)+h_old(i,j+1)+h_old(i j-1))
hy2 = 0.25D0* (h_old(i,j+1)+h_old(i,j-1)+h_old(i-2,j+1)+h_old(i-2,j-1))

! ( )
I'x
u(i+1,j) = 0.5* (u(i+1,j+1)+u(i+1,j-1))
u(i-1,j) = 0.5* (u(i-1,j+1)+u(i-1,-1))
if(u@i+1,j) >=0) then
CNVVXe = u(i+1,j)*N_old(i,j)
dse

CNVVXe = u(i+1,j)*N_old(i+2,)

end if
if(u(i-1,j) >=0) then

CNVVXw = u(i-1,j)*N_old(i-2,j)
ese
CNVVXw = u(i-1,j)*N_old(,j)
end if
CNVVX = (CNVVXe- CNVVXw)/(2.0*dx)

ly
v(i,j*+1) = 0.5% (v(i j+2)+v(i,j))
V(i j-1) = 0.5* (v(i j)+Vv(i,j-2))
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if(v(i,j+1) >=0) then
CNVVYn=v(i,j+1)*N_old(i,))
ese
CNVVYn = v(i,j+1)*N_old(i j+2)
end if
if(v(i,j-1) >= 0) then
CNVVYs=v(i,j-1)*N_old(i ,j-2)
ese
CNVVYs=v(i,j-1)*N_old(,j)
end if

CNVVY = (CNVVYn - CNVVY /(2.0 dy)
HIDY = 0.5*g* (h_old(i,j+1)**2-h_old(i,j-1)**2)/(2.0*dy)

cy2 = -0.54f*v(i j)* sgrt(uul** 2+v(i,j)** 2)

cy31 = 0.3*sgrt(0.5*f)/(2.0* dx)

cy32 = 0.25* (u(i+1,j+1)+u(i+1,j-1))** 2+0.25* (v(i+2,))+v(i,j))**2
cy33 = (u(i+1,j+1)-u(i+1,j-1))/(2.0* dy)+(v(i+2,j)-v(i,}))/(2.0* dx)
cy34 = 0.25* ((u(i-1,j+1)+u(i-1,j-1))** 2+0.25* (v(i,j)+Vv(i-2,)))** 2)
cy35 = (u(i-1,j+1)-u(i-1,j-1))/(2.0* dy)+(v(i,j)-v(i-2,)))/(2.0* dx)
cy36 = 0.25% (u(i-1,j+1)+u(i-1,j-1))** 2+v(i,j)** 2

cy37 = 0.25* (u(i+1,j+1)+u(i+1,j-1))** 2+v(i,j)** 2

!
if(i==mx2+1) then

cy3 = cy31* (hyl** 2* sgrt(cy32)* cy33-hy2* * 2* sgrt(cy36)* cy35)

eseif(i==mx3-1) then

cy3 = cy31* (hyl** 2* sgrt(cy37)* cy33-hy2* * 2* sgrt(cy34)* cy35)
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dse

cy3 = cy31* (hyl** 2* sgrt(cy32)* cy33-hy2* * 2* sgrt(cy34)* cy35)
end if

cy41 = 0.3*sgrt(0.5%f)/dy

cy42 = 0.25* (u(i+1,j+1)+u(i-1,j+1))** 2+0.25* (v(i,j+2)+Vv(i,j))** 2
cy43 = h_old(i,j+1)** 2* sgrt(cy42)* (v(i,j+2)-v(i,j))/(2.0* dy)

cy44 = 0.25% (u(i+1,j-1)+u(i-1,j-1))** 2+0.25* (v(i,j)+V(i,j-2))** 2
cy45 = h_old(i,j-1)** 2* sgrt(cy44)* (v(i,j)-v(i,j-2))/(2.0* dy)

cy46 = cy41* (cy43-cy4s)

cy47 = (2.0/3.0)*2.07* (0.5*f)/(2.0* dy)

cy48 = cy47*(h_old(i,j+1)* cyd2-h_old(i,j-1)* cy44)

cy4 = cy46-cy48

CIMY = cy2+cy3+cy4d

bx3 = hy1* (v(i+2,))-v(i,j))/(2.0* dx)
bx4 = hy2* (v(i,j)-v(i-2,j))/(2.0* dx)
DIFVX = (bx3-bx4)/(2.0*dx)

by3 = h_old(i,j+1)* (v(i,j+2)-v(i.j))/(2.0* dy)
by4 = h_old(i,j-1)* (v(i.j)-v(i ,j-2))/(2.0* dy)
DIFVY = (by3-by4)/(2.0%dy)

DIFV = vis*(DIFVX + DIFVY)

N_new(i,j) = N_old(i j)+dt* (-CNVVX-CNVVY-HIDY+CIMY +DIFV)

end do
end do

FH P
do i=mx2+1,mx3-1,2
j=26
h_new(i,j) = h_old(i,j)-0.5*dt* (M _old(i+1,j)-M_old(i-1,j))/dx &
+(N_old(i,j+1)-N_old(i,j-1))/dy)
end do

return
end subroutine cal_enter
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subroutine cal_gyo
implicit none

! ( )
do i=mx1,mx4,2
M_old(i,jend+1) = -M_old(i,jend-1)
u(i,jend+1) = -u(i,jend-1)
end do

do i=mx1+1,mx4-1,2
h_old(i,jend+1) = h_old(i,jend-1)
end do

! « )
do j=my2+1,jend-1,2
M_old(mx1-2,j) =-M_old(mx1+2,))
u(mx1-2,j) = -u(mx1+2,j)

M_old(mx4+2,j) = -M_old(mx4-2,))
u(mx4+2,j) = -u(mx4-2,j)

end do

doj=my2,jend,2
N_old(mx1-1,j) =-N_old(mx1+1,))
v(mx1-1,j) = -v(mx1+1,))
N_old(mx4+1,j) =-N_old(mx4-1,j)
v(mx4+1,j) = -v(mx4-1,j)

end do

do j=my2+1,jend-1,2
h_old(mx1-1,j) = h_old(mx1+1,))
h_old(mx4+1,j) = h_old(mx4-1,))
end do

I
do i=mx1,mx2,2
M_old(i,my2-1) = -M_old(i,my2+1)
u(i,my2-1) = -u(i,my2+1)

end do

do i=mx3,mx4,2
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M_old(i,my2-1) = -M_old(i,my2+1)
u(i,my2-1) = -u(i,my2+1)

end do

do i=mx1+1,mx2-1,2
N_old(i,my2-2) = -N_old(i,my2+2)
v(i,my2-2) = -v(i,my2+2)

end do

do i=mx3+1,mx4-1,2
N_old(i,my2-2) = -N_old(i,my2+2)
v(i,my2-2) = -v(i,my2+2)

end do

do i=mx1+1,mx2-1,2
h_old(i,my2-1) = h_old(i,my2+1)
end do

do i=mx3+1,mx4-1,2
h_old(i,my2-1) = h_old(i,my2+1)
end do

do i=mx1+2,mx4-2,2
do j=my2+1,jend-1,2

if(t==1) then

Re = Mdtart/vis
ese

Re = abs(M_old(i,j))/vis
endif

f = 0.0791* (Re**(-0.25))
W1 = 0.25D0% (V(i+1,j+1)+v(i+L,j-1)+v(i-1,j+1)+v(i-1-1))
hx1 = 0.25D0* (h_old(i+L,j+2)+h_old(i+1,j)+h_old(i-1,j+2)+h_old(i-L;))
hx2 = 0.25D0* (h_old(i+1,j)+h_old(i+1,j-2)+h_old(i-1,j)+h_old(i-1,j-2))

! ( )

I'X

u(i+1,j) = 0.5* (u(i+2,j)+ui.j))
u(i-1,j) = 0.5*(u(i,j)+u(i-2,j))

if(u(i+1,j) >= 0) then
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CNVUXe = u(i+1,j)*M_old(i,j)
ese
CNVUXe = u(i+1,j)*M_old(i+2,))
end if
if(u(i-1,j) >= 0) then
CNVUXw = u(i-1,j)*M_old(i-2,j)
ese
CNVUXwW = u(i-1,j)*M_old(i,j)
end if
CNVUX = (CNVUXe - CNVUXw)/(2.0*dx)

|
v()|/ J+1) = 0.5% (v(i+1,j+1)+v(i-1,j+1))
v(i,j-1) = 0.5% (v(i+1,j-1)+v(i-1,j-1))
if(v(i,j+1) >=0) then
CNVUYnNn=v(i,j+1)*M_old(i,j)
ese
CNVUYn = v(i,j+1)*M_old(i,j+2)
end if
if(v(i,j-1) >= 0) then
CNVUYs = v(i,j-1)*M_old(i,j-2)
ese
CNVUYs = v(i,j-1)*M_old(i,j)
end if

CNVUY = (CNVUYn - CNVUYs)/(2.0*dy)
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HIDX = 0.5*g*(h_old(i+1,j)**2-h_old(i-1,j)** 2)/(2.0* dx)
cx1 =g*0.5¢(h_old(i+1,j)+h_old(i-1,j))*0.002
cx2 = -0.54fu(i,j)* sort(u(i,j)** 2+vwl** 2)

cx31 = 0.3*sgrt(0.5* f)/dx

ex32 = 0.25* (u(i+2,))+u(i,j))**2+0.25* (v(i+1,j+1)+v(i+1,j-1))** 2
cx33 = h_old(i+1,))** 2* sgrt(cx32)* (u(i+2,j)-u(i,j))/(2.0*dx)

cx34 = 0.25% (u(i,j)+u(i-2,j))** 2+0.25* (v(i-1,j+1)+v(i-1,j-1))**2
cx35 = h_old(i-1,j)** 2* sgrt(cx34)* (u(i,j)-u(i-2,j))/(2.0* dx)

€x36 = cx31* (cx33-cx35)

cx37 = (1.0/3.0)*2.07* (0.5*f)/dx

cx38 = cx37*(h_old(i+1,j)* cx32-h_old(i-1,j)* cx34)

cx3 = cx36-cx38

cx41 = 0.3*sgrt(0.5%)/(2.0* dy)
cx42 = 0.25* (u(i,j+2)+u(i,j))**2+0.25* (v(i+1,j+1)+v(i-1,j+1))**2
cx43 = (u(i,j+2)-u(i,j))/(2.0*dy)+(v(i+1,j+1)-v(i-1,j+1))/(2.0* dx)
cx44 = 0.25* (u(i,j)+u(i,j-2))** 2+0.25* (v(i+1,j-1)+v(i-1,j-1))**2
cx45 = (u(i,j)-u(i,j-2))/(2.0* dy)+(v(i+1,j-1)-v(i-1,j-1))/(2.0* dx)
€x46 = u(i,j)**2+0.25* (v(i+1,j+1)+v(i-1,j+1))**2
CXA7 = u(i,j)** 2+0.25* (v(i+1,j-1)+v(i-1,j-1))** 2
if(j==jend-2) then
cx4 = cx41* (hx1** 2* sgri(cx46)* cx43-hx2* * 2* sgri(cx44)* cx45)
eseif(mx1+2<=i .and. i<=mx2 .and. j==my2+1 .or. mx3<=i .and. i<=mx4-2 .and.j==my2+1) then
cx4 = cx41* (hx1** 2* sgrt(cx42)* cx43-hx2* * 2* sgrt(cx47)* cx45)
ese
cx4 = cx41* (hx1** 2* sgrt(cx42)* cx43-hx2* * 2* sgrt(cx44)* cx45)

end if

CIMX = cx1+cx2+cx3+cx4
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bx1 = h_old(i+L,j)* (u(i+2,j)-u(i,j))/(2.0* dx)
bx2 = h_old(i-1,j)* (u(i.j)-u(i-2,j))/(2.0*dx)
DIFUX = (bx1-bx2)/(2.0*dx)

byl = hx1* (u(i,j+2)-u(i,j))/(2.0* dx)
by2 = hx2* (u(i,j)-u(i,j-2))/(2.0* dx)
DIFUY = (byl-by2)/(2.0*dy)

DIFU = vis*(DIFUX + DIFUY)

!
M_new(i,j) = M_old(i j)+dt* (-CNVUX-CNVUY-HIDX+CIMX+DIFU)

end do
end do

do i=mx1+1,mx4-1,2
do j=my2+2,jend-2,2

if(t==1) then

Re = Mstart/vis
dse

MM1=0.25D0*(M_old(i+1,j+1)+M_old(i+1,j-1)+M_old(i-1,j+1)+M_old(i-1,j-1))
Re = abs(MM1)/vis
end if

f = 0.0791* (Re**(-0.25))
uul = 0.25D0* (u(i+1,j+1)+u(i+1,j-1)+u(i-1,j+1)+u(i-1,j-1))
hyl = 0.25D0* (h_old(i+2,j+1)+h_old(i+2,j-1)+h_old(i,j+1)+h_old(i,j-1))
hy2 = 0.25D0* (h_old(i,j+1)+h_old(i,j-1)+h_old(i-2,j+1)+h_old(i-2,j-1))
! ( )
I'x
u(i+1,j) = 0.5*(u(i+1,j+1)+u(i+1,j-1))
u(i-1,j)) = 0.5* (u(i-1,j+1)+u(i-1,j-1))
if(u(i+1,j) >=0) then

CNVVXe = u(i+1,j)*N_old(i,])

89



ese
CNVVXe = u(i+1,j)*N_old(i+2,j)
end if
if(u(i-1,j) >= 0) then
CNVVXw = u(i-1,j)* N_old(i-2,))
ese
CNVVXw = u(i-1,j)*N_old(i,j)
end if
CNVVX = (CNVVXe- CNVVXWw)/(2.0*dx)

| yv(i,j+1) = 0.5*(v(i j+2)+V(i j))

V(i,j-1) = 0.5*(v(ij)+V(i j-2))
if(v(i,j+1) >= 0) then

CNVVYn = v(i j+1)*N_old( j)
dse

CNVVYn = v(i,j+1)*N_old(i,j+2)
end if
if(v(i j-1) >= 0) then

CNVVYs = v(i j-1)*N_old(i j-2)
dse

CNVVY's = (i j-1)*N_old(i )
end if

CNVVY = (CNVVYn - CNVVYs)/(2.0*dy)

HIDY = 0.5*g* (h_old(i,j+1)**2-h_old(i,j-1)**2)/(2.0*dy)
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cy2 = -0.54f*v(i j)* sgrt(uul** 2+v(i,j)** 2)

cy31 = 0.3*sgrt(0.5*)/(2.0* dx)

cy32 = 0.25* (u(i+1,j+1)+u(i+1,j-1))** 2+0.25* (v(i+2,))+v(i,j))**2
cy33 = (u(i+1,j+1)-u(i+1,j-1))/(2.0* dy)+(v(i+2,j)-v(i,}))/(2.0* dx)
cy34 = 0.25* ((u(i-1,j+1)+u(i-1,j-1))** 2+0.25* (v(i,j)+Vv(i-2,)))** 2)
cy35 = (u(i-1,j+1)-u(i-1,j-1))/(2.0* dy)+(v(i,j)-v(i-2,)))/(2.0* dx)
cy36 = 0.25% (u(i-1,j+1)+u(i-1,j-1))** 2+v(i,j)** 2

cy37 = 0.25* (u(i+1,j+1)+u(i+1,j-1))** 2+v(i,j)**2

!
if(i==mx1+1) then

cy3 = cy31* (hyl** 2* sgrt(cy32)* cy33-hy2* * 2* sgrt(cy36)* cy35)

eseif(i==mx4-1) then

cy3 = cy31* (hyl** 2* sgrt(cy37)* cy33-hy2* * 2* sgrt(cy34)* cy35)

dse

cy3 = cy31* (hyl** 2* sgrt(cy32)* cy33-hy2* * 2* sgrt(cy34)* cy35)
end if

cy41 = 0.3*sgrt(0.5%f)/dy

cy42 = 0.25* (u(i+1,j+1)+u(i-1,j+1))** 2+0.25* (v(i,j+2)+Vv(i,j))** 2
cy43 = h_old(i,j+1)** 2* sgrt(cy42)* (v(i,j+2)-v(i,}))/(2.0* dy)

cy44 = 0.25% (u(i+1,j-1)+u(i-1,j-1))** 2+0.25* (v(i,j)+v(i,j-2))** 2
cy45 = h_old(ij-1)** 2* sgrt(cy44)* (v(i,j)-v(i,j-2))/(2.0* dy)

cy46 = cy41* (cy43-cy4s)

cy47 = (2.0/3.0)*2.07* (0.5*f)/(2.0* dy)

cy48 = cy47*(h_old(i,j+1)* cyd2-h_old(i,j-1)* cy44)

cy4 = cy46-cy48

CIMY = cy2+cy3+cy4d
bx3 = hy1* (v(i+2,))-v(i,j))/(2.0* dx)
bx4 = hy2* (v(i,j)-v(i-2,j))/(2.0* dx)

DIFVX = (bx3-bx4)/(2.0*dx)

by3 = h_old(i,j+1)* (v(i,j+2)-v(i.j))/(2.0* dy)
by4 = h_old(i,j-1)* (v(i.j)-v(i.j-2))/(2.0*dy)
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DIFVY = (by3-by4)/(2.0*dy)

DIFV = vis*(DIFVX + DIFVY)

N_new(i,j) = N_old(i j)+dt* (-CNVVX-CNVVY-HIDY+CIMY +DIFV)

end do
end do

do i=mx1+1,mx4-1,2
do j=my2+1,jend-1,2

h_new(,j) = h_old(i,j)-0.5*dt* (M_old(i+1,j)-M_old(i-1,j))/dx &
+(N_old(i,j+1)-N_old(i,j-1))/dy)

end do
end do

return
end subroutine cal_gyo

subroutine adv
implicit none

doi=3,iend-3,2
doj=4,my1-1,2
M_old(i,j) = M_new(,j)
u(i,j) =M_new(i,j) / h_new(i+1,)
end do
end do

doi=4,iend-2,2
doj=3,myl1-2,2
N_old(i,j) = N_new(i,))
v(i,j) = N_new(i,j) / h_new(i,j+1)
end do
end do

doi=4,iend-2,2
doj=4,my1-1,2
h_ald(i,j) = h_new(i,))
end do
end do
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do i=mx2+2,mx3-2,2
j=26
M_old(i,j) = M_new(,j)
u(i,j) =M_new(i,j) / h_new(i+1,))
end do

doi=mx2+1,mx3-1,2
doj=myl,my2,2
N_old(i,j) = N_new(i,))
v(i,j) = N_new(ij) / h_new(i,j+1)
end do
end do

doi=mx2+1,mx3-1,2
j=26
h_ald(i,j) = h_new(i,))
end do

do i=mx1+2,mx4-2,2
do j=my2+1,jend-1,2
M_old(i,j) = M_new(,j)
u(i,j) =M_new(i,j) / h_new(i+1,)
end do
end do

doi=mx1+1,mx4-1,2
do j=my2+2,jend-2,2
N_old(i,j) = N_new(i,))
v(i,j)) = N_new(i,j) / h_new(i,j+1)
end do
end do

doi=mx1+1,mx4-1,2
do j=my2+1,jend-1,2
h_ald(i,j) = h_new(i,))
end do
end do

return

end subroutine adv

subroutine prout
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implicit none

if(MOD(t,2000) == 0) then
|
doi=2,iend-2,2
doj=2,my1-1,2
u_pro(i,j) = 0.5%(u(i-1,j)+u(i+1,)))
v_pro(i,j) = 0.5%(v(i,j-D)+v(i,j+1))
end do
end do

|
doi=mx2+1,mx3-1,2
j=26
u_pro(i,j) = 0.5%(u(i-1,j)+u(i+1,)))
v_pro(i,j) = 0.5%(v(i,j-D)+v(i,j+1))
end do

|
do i=mx1+1,mx4-3,2
do j=my2+1,jend-1,2
u_pro(i,j) = 0.5%(u(i-1,j)+u(i+1,)))
v_pro(i,j) = 0.5%(v(i,j-D)+v(i,j+1))
end do
end do

end if

return
end subroutine prout

subroutine average
implicit none

if(72000<=t .and. MOD(t,4000) == Q) then
|
doi=2,iend-2,2
doj=2,my1-1,2
uu(i,j) = uudi,j)+u_pro(i,j)
W(i,j) = w(i,j)+v_profi,j)
hh(i,j) = hh(i,j)+h_old(i,j)
end do
end do
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doi=mx2+1,mx3-1,2
j=26
uu(i,j) = uu(i,j)+u_pro(i,))
W(i,j) = w(i,j)+v_profi,j)
hh(i,j) = hh(i,j)+h_old(i,j)
end do

|
do i=mx1+1,mx4-3,2
do j=my2+1,jend-1,2
uu(i,j) = uui,j)+u_pro(i,))
w(i,j) = w(i,j)+v_profi,j)
hh(i,j) = hh(i,j)+h_old(i,j)
end do
end do

end if
!

if(t==tend) then
|
doi=2,iend-2,2
doj=2,my1-1,2
u_ave(i,j) = uu(i,j)/43.0
v_avel(i,j) = w(i,j)/43.0
h_ave(i,j) = hh(i,j)/43.0
xx(i,j) =i
yy(ij) =]
write(22,'(1x,2i5,3f15.10)") xx(i,j),yy(i.j),u_aveli,j),v_aveli,j),h_aveli j)
end do
end do

doi=mx2+1,mx3-1,2
j=26
u_ave(i,j) = uu(i,j)/43.0
v_ave(i,j) = w(i,j)/43.0
h_ave(i,j) = hh(i,j)/43.0
xx(i,j) =i
yy(@i.j) =]
write(22,'(1x,2i5,3f15.10)") xx(i,j),yy(i.j),u_ave(i,j),v_avel(i,j),h_avel(i,j)
end do

!
do i=mx1+1,mx4-3,2
do j=my2+1,jend-1,2
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u_ave(i,j) = uu(i,j)/43.0

v_avel(i,j) = w(i,j)/43.0

h_ave(i,j) = hh(i,j)/43.0

xx(i,j) =i

yy(ij) =]

write(22,'(1x,2i5,3f15.10)") xx(i,j),yy(i.j),u_avel(i,j),v_aveli,j),h_aveli,j)

end do
end do

end if
return

end subroutine average

TERRELRRRE TR et u_bar TERERRERRRRE Rt

subroutine turb
implicit none

if(72000<=t .and. MOD(t,4000) == Q) then
!
i=mx2+2
do j=16,36,2
uu(i,j) = uu(i,j)+u,j)
end do

i=mx2+1
doj=17,37,2
w(i,j) = w(i,j)+v(i,j)
end do

i=61
do j=16,36,2

uu(i,j) = uudi,j)+udi,j)
end do

i=60
doj=17,37,2
wv(i,j) = w(i,j)+v(i,j)
end do

i=mx3-2
do j=16,36,2

96



uu(i,j) = uui,j)+u(i,j)
end do

i=mx3-1
doj=17,37,2

w(i,j) = w(i,j)+v(i,j)
end do

end if

I'u_bar
if(t==tend) then

i=mx2+2
do j=16,36,2
dok=1,43
u_bar(i,j) = uu(i,j)/43.0
xx(i,j) =i
yy(@i.j) =]
write(23,'(1x,3i5,f15.10)") k,xx(i,j),yy(i,j),u_bar(i,j)
end do
end do

i=mx2+1
doj=17,37,2
dok=1,43
v_bar(i,j) = wv(i,j)/43.0
xx(i,j) =i
yy(@i.j) =]
write(24,'(1x,3i5,f15.10)") k,xx(i,)),yy(i,j),v_bar(i,j)
end do
end do

i=61
do j=16,36,2
dok=1,43
u_bar(i,j) = uu(i,j)/43.0
xx(i,j) =i
yy(ij) =]
write(23,'(1x,3i5,f15.10)") k,xx(i,j),yy(i,j),u_bar(i,j)
end do
end do
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i=60
doj=17,37,2
dok=1,43
v_bar(i,j) = w(i,j)/43.0
xx(i,j) =i
yy(@i.j) =]
write(24,'(1x,3i5,f15.10)") k,xx(i,)),yy(i,j),v_bar(i,j)
end do
end do

i=mx3-2
do j=16,36,2
dok=1,43
u_bar(i,j) = uu(i,j)/43.0
xx(i,j) =i
yy(ij) =]
write(23,'(1x,3i5,f15.10)") k,xx(i,j),yy(i,j),u_bar(i,j)
end do
end do

i=mx3-1
doj=17,37,2
dok=1,43
v_bar(i,j) = w(i,j)/43.0
xx(i,j) =i
yy(@i.j) =]
write(24,'(1x,3i5,f15.10)") k,xx(i,j),yy(i,j),v_bar(i,j)
end do
end do

end if

!
if(72000<=t .and. MOD(t,4000) == 0) then
tt = (t-68000)/4000

i=mx2+2

do j=16,36,2
xx(i,j) =i
yy(@i.j) =]
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write(7,'(1x,3i5,2f15.10)") tt,xx(i,}),yy(i,j),u(i,j),v(i-1,j+1)
end do

i=61
do j=16,36,2
xx(i,j) =i
yy(ij) =]
write(8,'(1x,3i5,2f15.10)") tt,xx(i,j),yy(i,j),u(i,j),v(i-1,j+1)
end do

i=mx3-2
do j=16,36,2
xx(i,j) =i
yy(@i.j) =]
write(9,'(1x,3i5,2f15.10)") tt,xx(i,j),yy(i,j),u(i,j),v(i-1,j+1)
end do

end if

return
end subroutine turb

subroutine output
implicit none

16.2 8.0(s)
if(124000<=t .and. t<=160000 .and. MOD(t,4000) == 0) then
|
doi=2,iend-2,2
doj=2,my1-1,2
xx(i,j) =i
yy(@i.j) =]
write(1,'(1x,2i5,3f15.10)") xx(i,j),yy(i,j),u_pro(i,j),v_pro(i,j),h_old(i,j)
end do
end do

do i=mx2+1,mx3-1,2
j=26
xx(i,j) =i

99



yy(ij) =]
write(1,'(1x,2i5,3f15.10)") xx(i,j),yy(i,j),u_pro(i,j),v_pro(i,j),h_old(i,j)
end do

|
do i=mx1+1,mx4-3,2
do j=my2+1,jend-1,2
xx(i,j) =i
yy(@i.j) =]
write(1,'(1x,2i5,3f15.10)") xx(i,j),yy(i,j),u_pro(i,j),v_pro(i,j),h_old(i,j)
end do
end do
endif

182 9.8(s)
if(164000<=t .and. t<=196000 .and. MOD(t,4000) == 0) then
|
doi=2,iend-2,2
doj=2,my1-1,2
xx(i,j) =i
yy(ij) =]
write(2,'(1x,2i5,3f15.10)") xx(i,j),yy(i,j),u_pro(i,j),v_pro(i,j),h_old(i,j)
end do
end do

doi=mx2+1,mx3-1,2
j=26
xx(i,j) =i
yy(@i.j) =]
write(2,'(1x,2i5,3f15.10)") xx(i,j),yy(i,j),u_pro(i,j),v_pro(i,j),h_old(i,j)
end do

|
do i=mx1+1,mx4-3,2

do j=my2+1,jend-1,2
xx(i,j) =i
yy(@i.j) =]
write(2,'(1x,2i5,3f15.10)") xx(i,j),yy(i,j),u_pro(i,j),v_pro(i,j),h_old(i,j)

end do

end do

end if

1100 12.0(5)
if(200000<=t .and. t<=240000 .and. MOD(t,4000) == 0) then
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|
doi=2,iend-2,2

doj=2,my1-1,2
xx(i,j) =i
yy(@i.j) =]
write(3,'(1x,2i5,3f15.10)") xx(i,j),yy(i,j),u_pro(i,j),v_pro(i,j),h_old(i,j)

end do

end do

do i=mx2+1,mx3-1,2

j=26

xx(i,j) =i

yy(ij) =]

write(3,'(1x,2i5,3f15.10)") xx(i,j),yy(i,j),u_pro(i,j),v_pro(i,j),h_old(i,j)
end do

|
do i=mx1+1,mx4-3,2

do j=my2+1,jend-1,2
xx(i,j) =i
yy(@i.j) =]
write(3,'(1x,2i5,3f15.10)") xx(i,j),yy(i,j),u_pro(i,j),v_pro(i,j),h_old(i,j)

end do

end do

end if

if(t==tend) then

I u
doi=mx2-1,mx3+1,10
do j=16,36,2
u_pro(i,j) = u_ave(i,j)/ustart
xx(i,j) =i
yy(@i.j) =]
write(10,'(1x,2i5,1f15.10)") xx(i,j),yy(i,j),u_pro(i,j)
end do
end do
I v
doi=mx2-1,mx3+1,10
do j=16,36,2
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v_pro(i,j) = v_ave(i,j)/ustart
xx(i,j) =i
yy(ij) =]
write(11,'(1x,2i5,1f15.10)") xx(i,)),yy(i,j),v_pro(i,j)
end do
end do

%
do j=16,36,2
do i=mx2-9,mx3+9,10
v_pro(i,j) = v_ave(i,j)/ustart
xx(i,j) =i
yy(ij) =]
write(12,'(1x,2i5,1f15.10)") xx(i,j),yy(i,j),v_pro(i,j)
end do
end do

end if

if(MOD(t,200) == 0) then

i=61
j=22
xx(i,j) =i
yy(ij) =]
write(13,'(1x,2i5,1f15.10)") xx(i,j),yy(i.j),u(i,j)

i=61
j=26
xx(i,j) =i
yy(ij) =]
write(19,'(1x,2i5,1f15.10)") xx(i,j),yy(i.j),u(i,j)

i=61
j=30
xx(i,j) =i
yy(ij) =]
write(20,'(1x,2i5,1f15.10)") xx(i,j),yy(i.j),u(i,j)

i=22

j=56
xx(i,j) =i
yy(ij) =]
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write(14,'(1x,2i5,1f15.10)") xx(i.j),yy(i.i),h_old(ij)

i=102
j=56
xx(i,j) =i
yy(ij) =]
write(15,'(1x,2i5,1f15.10)") xx(i,j),yy(i,j),h_old(i,j)

end if
if(MOD(t,200) == 0) then

i=mx2+5
=27
xx(i,j) =i
yy(ij) =]
write(16,'(1x,2i5,1f15.10)") xx(i,j),yy(i.j),v(i,j)

i=60
j=27
xx(i,j) =i
yy(ij) =]
write(17,'(1x,2i5,1f15.10)") xx(i,j),yy(i.j),v(i,j)

i=mx3-5
=27
xx(i,j) =i
yy(ij) =]
write(18,'(1x,2i5,1f15.10)") xx(i,j),yy(i.j),v(i,j)

end if

! v
if(180000<=t .and. t<=240000.and. MOD(t,4000) == 0) then
doi=mx2+1,mx3-1,2
doj=myl,my2,2
xx(i,j) =i
yy(ij) =]
write(21,'(1x,2i5,f15.6)") xx(i,)),yy(i,j),v(i )
end do
end do
end if

!
if(MOD(t,4000) == 0) then
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|
doi=2,iend-2,2
doj=2,my1-1,2
h_pro(i,j) = h_old(i,j)
end do
end do

doi=2,iend-2,2
doj=3,myl-2,2
h pro(i,j) = 0.5*(h_old(i,j+1)+h_old(i,j-1))
end do
end do

|
doi=mx2+1,mx3-1,2
j=26
h_pro(i,j) = h_old(i,))
end do
doi=mx2+1,mx3-1,2
doj=myl,my2,2
h pro(i,j) = 0.5*(h_old(i,j+1)+h_old(i,j-1))
end do
end do

|
doi=mx1+1,mx4-1,2
do j=my2+1,jend-1,2
h_pro(i,j) = h_old(i,))
end do
end do

do i=mx1+1,mx4-3,2
do j=my2+2,jend-2,2
h_pro(i,j) = 0.5*(h_old(i,j+1)+h_old(i,j-1))
end do
end do

end if
doj=0,jend
h_pro(0,j) =]

end do

!
if(184000<=t .and. t<=240000.and. MOD(t,4000) == 0) then
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doi=0,iend-2,2
xx(i,j) =i
write(4,'(1x,i5,55f15.6)") xx(i,j),h_pro(i,2:my1-1)
end do

doi=mx2+1,mx3-1,2
XX(i.,j) =i
write(4,'(1x,i5,3f15.6)") xx(i,j),h_pro(i,25:27)
end do
doi=mx1+1,mx4-1,2
XX(i,j) =i
write(5,'(1x,i5,55f15.6)") xx(i,j),h_pro(i,my2+1:jend-1)
end do
end if
return

end subroutine output

end program main
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